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Why do we need Normal approximations?  One reason:  invNorm-type problems.   
Let’s reconsider the Frogs problem assuming we take a sample of 150 frogs with p=0.125 (1 out of 8) 
 
a) Use a binomial model to find the probability of a sample of 150 frogs having more than 22 frogs with the trait. 
 
 
 
 
 
b) Use a Normal approximation to the binomial model to find the probability of a sample of 150 frogs having 
more than 22 frogs with the trait. 
 
 
 
 
 
c) Now what if we asked this:  If we consider a probability of 5% or less to be ‘unlikely’, how many frogs would 
have to have the trait in a sample of 150 for this result to be ‘unlikely’?   
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